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+ Forward packets based on MAC address in forwarding table
*+ Operates at OSl Layer 2
* Learns a station's location by examining source address
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Collisions in Collision Domain
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This network with 43 hosts, 5 servars, 5 network printers, and 7 hubs is a
single collision / broadcast domain, When one host or server lranamils all
other devices receive it. More important is the fact that only one device in
this entire network can send data at a time.




Limiting the Collision Domain




Broadcast Domain Segmentation
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By using a router in place of a bridging device a Layer 2 broadcast
is contained. Layer 3 devices are the only devices that contain
broadcasts.



La&er 2 Switching and Layer 3 Routing
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LAN .
Layer 2 switching
based on MAC address

WAN
Layer 3 routing
based on IP address
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LAN
Layer 2 switching
based on MAC address

Layer 2 switching takes place within the LAN. Layer 3 routing moves traffic
between broadcast domains. This requires the hierarchical addressing format
that a Layer 3 addressing scheme like |P provides.







Routing Tables
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